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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 
CI er? 	December, 2018 

MEC-001 : MICROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per 

instructions given under each. 

SECTION A 

Answer any two questions from this section. 	2x20=40 

1. (a) Consider a duopoly market structure with 
two symmetric firms with the following 
inverse market demand functions and 
identical cost functions : 

P(q) = 130 — Q, where Q = q 1  + q2  

Cost functions of eachfirm : TC 1  = TC2  
= 10 qi, i = 1, 2. 

Derive the equilibrium price and quantities 
under Cournot competition, both at the 
firm as well as industry level. 

(b) How do firms in Bertrand model under 
homogeneous product industry arrive at 
equilibrium price ? In what way is this 
model different from Cournot model ? 
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2. A consumer's utility function is given as 
U(x, y) = 2x + f3  , where x and y are two 

consumption goods. 

(a) Find his indirect utility function. 

(b) Examine if Roy's law is satisfied by 

consumer's demand function for y. 

(c) Find the expenditure function e(p, u), 

where price of x = 1 and price of y = p. 

(d) Find the Hicksian demand function hy(p, u) 

for commodity y, where price of x = 1 and 
price of y = p. 

3. There are 2 firms in an industry facing market 

demand Q = 3200 — 1600 P. Their costs are 

Firm 1 —> TC1(q1) = 0 ' 25  q1 

 Firm 2 —› TC2(q2) = 0 * 5  q2 

If firm 1 is the leader and firm 2 the follower, 

solve for Stackelberg output levels, market price 
and profit levels of the firms. 

4. Consider the Pareto efficiency conditions for the 

provision of public goods. Show that if the sum of 

the marginal rates of substitution adds up to 

more than the marginal cost, then more of the 

public goods and less of the private goods should 
be produced. 
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SECTION B 

Answer any five questions from this section. 	5x12=60 

5. Suppose the probability of an accident is 3%. The 
average cost imposed due to it is 1,00,000. 
Assume that the average car driver has 
preferences given by u(I) = -di . 

(a) Assuming that this person earns 1,00,000 
per year in income, calculate his expected 
utility if he buys no insurance. 

(b) Calculate the cost of this policy to the 
insurance company. 

6. Consider the following game : 

Player 2 

Rock Paper Scissors 

Player 1 

Rock 0, 0 —1, 1 1; —1 

Paper 1, —1 0, 0 — 1, 1 

Scissors 1, —1 1, —1 0, 0 

Is there any pure strategy Nash equilibrium in 
this game ? Find out the mixed strategy Nash 
equilibrium. 

7. The short-run cost function of a firm is given as 

C = 0.03 q3  — 0.6 q2  + 10 q+ 6. 
Find its short-run supply function. 
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8. Differentiate between 

(a) Public goods and Merit goods 

(b) Slutsky and Hicksian approaches to effect 

of price change 

9. Discuss the approaches adopted by Pareto and 

Pigou for analysing the problem of welfare 

economics. 

10. The marginal productivity of labour in a firm is 
given as MPL  = A(400 — L). 

(a) If A = 0.2 and real wage is 60, how many 

labour will the firm want to hire ? 

(b) Suppose we increase the wage to 75, how 

many labour will now be hired ? 

(c) If A increases to 0.5 and wage is _T 60, how 

many labour will the firm now hire ? 

Also interpret your results. 

11. Write short notes on (any two) : 

(a) Envelope Theorem 

(b) Translog Production Function 

(c) Pooling Equilibrium 
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